Without using calculator find the value of:

() - -

2 X 2 X 2
3 X 3 X 3
aX aXa Xa
axX aXb Xb
3 X 3 X 3
TX3IXTXTX3
zX z XzXa
5 X 5 X 2

8 X 8 X 8

2 X 3 X 3

Indices and Laws of Indices

(H-= H-- )

6 X 6 = 7

(xy)x (xy) = ( )(Z)(a)
axb xb = ( )( )

32 axXaXb = 2x9x9x9x9x9x2x2
2 X 2 = IXBX{XTXTXT*x2x2 =
9 X 9 = 5XBXEXTXTXxTx2x2
5 X 5 = C XCc XDb
Ox9x9x2x2 = BX6X7X7X3
axXaXb = BXTx9xTxIxTx2x8
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Watch a video


http://youtu.be/pZ0OPm68vAY
http://www.fordandlord.com

	0: 
	0: 
	0: 
	1: 
	1: 
	1: 
	0: 
	2: 
	1: 
	0: 
	0: 
	0: 
	0: 
	1: 
	0: 
	1: 
	0: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	0: 
	0: 
	1: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	1: 
	0: 
	0: 
	0: 
	0: 












	6: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	1: 
	0: 
	0: 
	0: 
	0: 
































	1: 
	1: 
	0: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	0: 
	0: 
	1: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	1: 
	0: 
	0: 
	0: 
	0: 












	6: 
	1: 
	1: 
	1: 
	0: 
	0: 
	0: 
	1: 
	0: 
	0: 
	0: 
	0: 














































	2: 
	Text1:  
	Text2:  
	Text3:  
	Text4:  
	Text5:  
	Text6:  
	Text7:  
	Text8:  
	Text9:  
	Text10:   
	Text11:  
	Text12:  
	Text13:  
	Text14:  
	Text15:  
	Text16:  
	Text17:  
	Text18:  
	Text19:  
	Text20:  
	Text21:  
	Text22:  
	Text25:  
	Text23:  
	Text24:  
	Text26:  
	Text27:  
	Text28:  
	Text29:  
	Text30: 
	Text31:  
	Text32:  
	Text33:  33
	Text34:  
	Text35:  
	Text36:  
	Text37: 
	Text38: 
	Text39: 
	Text40: 
	Text41: 
	Text42: 
	Text43: 
	Text44: 
	Text45: 
	Text46: 
	Text47: 
	Text48: 
	Text49: 
	Text50: 



